
PHYSOL EXAMINATION SERIES
CHAPTER 7- SYSTEMS OF PARTICLES AND ROTATIONAL MOTION

SUNDAY 25-07-2021 @ 7.00pm

PES06 TIME: 1 HOUR

MAXIMUM SCORE:30

ANSWER KEY

1 R

√2
1

2 [ML2T-2] 1

3 True 1

4 Moment of inertia 1

5  linear motion: All particles in the system have same  velocity.
 Rotational motion :  All particles in the system have same  angular velocity  

1
1

6 We have   Iring =MR2

By Perpendicular axes theorem  
Id + Id = MR2

2Id = MR2

I d=
MR2

2
This is the Moment of inertia of a thin circular ring of radius ‘R’
and mass ‘M’  about an axis passing through diameter.

2

7 From the diagram

                               Δθ=
Δr
r

       Δr=r Δθ
Dividing by Δt,  we gett,  we get

                               
Δr
Δt

=r
Δθ

Δt
There fore,
       v=r ω

This is the relation between linear velocity and Angular velocity
The vector notation of the above equation is given by 

       v⃗=ω⃗ x r⃗
The particle  has  a  velocity  ‘v’ in  the  plane  with its  radius  vector  ‘r’,  then  the  angular
velocity ‘ω’ is in a direction perpendicular to the plane.’ is in a direction perpendicular to the plane.

2

8 Theorem of parallel axes states that “The moment of inertia of
a body about any axis is equal to the sum of the moment of
inertia of the body about a parallel axis passing through its
centre of mass and the product of its mass and the square of the
distance between the two parallel axes”.
                                        
                                               Iz’ = Iz + Ma2

2
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9 Given, ω’ is in a direction perpendicular to the plane.i = 0    ω’ is in a direction perpendicular to the plane.f  = 10 rad/s       t = 2 s    I = 0.4 kg m2  

We have τ = I α  = I × 
ωf −ωi

t
  = 0.4 × 

10−0
2

   = 2 Nm
3

10 (a) Angular speed decreases.
(b) Conservation of Angular momentum.
If the total external torque on a system of particles is zero,   then the total angular 
momentum of the system is conserved.

1

2

11 a) Torque    
b) Moment of inertia
c) 900

3

12 (a) Expression for Kinetic Energy in terms of Moment of inertia

We have KE=
1
2

mv2 But v =rω

KE=
1
2

m(r ω)
2

KE=
1
2
(mr2

)ω
2     But I=mr2

Therefore KE=
1
2

I ω2

(b) Translational Kinetic energy, KEt=
1
2

mv2

Rotational kinetic energy, KEr=
1
2

I ω
2

For a ring I=MR2 ,ω=
v
R

                Therefore KEr=
1
2

MR2
(

v
R

)
2

=
1
2

Mv2
=KEt

                That is both the translational and rotational kinetic energy have the same value.

2

1

13  a) ML2T-1.
 b) According to law of conservation of Angular momentum Iω’ is in a direction perpendicular to the plane. = a constant.

  I= MR2

When polar ice is in solid form r is small so I is small, then ω’ is in a direction perpendicular to the plane. will be large. When ice melts r
increases so I will increase and hence w will decrease. So when polar ice melts rotation of 
earth become slow, so duration of a day will increase.

2

2

14 (a)We have l⃗ = r⃗ x P⃗

Therefore  
d l⃗
dt

=
d ( r⃗ x P⃗)

dt
d l⃗
dt

= r⃗ x
d P⃗
dt

+
d r⃗
dt

x P⃗

d l⃗
dt

= r⃗ x F⃗+ v⃗ x(m v⃗ )   

Therefore  d l⃗
dt

=τ⃗                   (Because   r⃗ x F⃗=τ  and v⃗ x v⃗=0 )

Thus Torque is equal to the rate of change of angular momentum.
(b) Law of conservation of Angular momentum:

2

1
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If the total external torque on a system of particles is zero, then the total angular 
momentum of  the system is conserved.

(c) Planetary motion.
1

15 a) Angular momentum.
b) We know that when external torque is zero, Angular momentum remains constant.

  Iω’ is in a direction perpendicular to the plane. = a constant.
When planets are at near region of sun their r will be small. So I will be small. (I=MR2). So  
their ω’ is in a direction perpendicular to the plane. will be large. When planets are at far regions, r is large, so I is large, then ω’ is in a direction perpendicular to the plane. will be 
small. So planets are slow at far regions.

1

3

16 (a) Theorem of perpendicular axes: 
Theorem of Perpendicular axes states that “The moment of inertia of a planar body (lamina) 
about an axis perpendicular to its plane is equal to the sum of its moments of inertia about 
two perpendicular axes concurrent with perpendicular axis and lying in the plane of the 
body.”
                               Here    IZ= IX +IY

Where    IZ --> Moment of Inertia about Z-axis.
   IX --> Moment of Inertia about X-axis.
   IY --> Moment of Inertia about Y-axis.

Note: This theorem is used to find moment of inertia of some regular shaped bodies which
are  planar.  This  means  theorem  applies  to  flat  bodies  whose  thickness  is  very  small
compared to their other dimensions 

(b) Moment of inertia of a thin circular disc of radius ‘R’ and mass ‘M’ about an axis 
passing through diameter:

We have I disc=
MR2

2
By Perpendicular axes theorm

I d+ I d=
MR2

2

2 I d=
MR2

2

I d=
MR2

4

This is the Moment of inertia of a thin circular disc of radius ‘R’ and mass ‘M’  about an 
axis passing through diameter.

1

3

17 (a)The moment of interia about a given axis resists a change in its rotational motion. Thus it 
can be regarded as a measure of rotational inertia of the body. 
                                  
(b) (i)The mass of the body, (ii) Its shape and size;

(c) We have KE=
L2

2 I
Here L, the angular momentum is a constant.

Therefore KE α
1
I

      Given I A > I B  Therefore  KEB > KEA

2

1

2
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18 (a) Law of conservation of angular momentum.
(b) To distinguish between a hard boiled egg and a raw egg, we spin each on a table top. The
egg which spins at a slower rate shall be a raw egg. This is because in a raw egg, liquid  
matter inside tries to get away from the axis of rotation. Therefore, its moment of inertia I 
increases and hence angular speed decreases. Whereas the hard boiled egg continues to spin.

(c) Kinetic Energy K.E = 1
2

I ω
2 = 1

2
MR2

2
ω

2

                                 = MR2

4
ω

2  =  20×0.252

4
×1002

                                 = 3.1 × 103 J

Angular momentum  L =Iω’ is in a direction perpendicular to the plane.

                    L=
MR2

2
ω

         Therefore       L=
20 x 0.252

2
100=62.5 Js     

1

2

2
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PHYSOL EXAMINATION SERIES
അധ്യായം 7 -  കണികാവ്യൂഹവും ഭ്രമണചലനവും

25-07-2021 ഞായർ 7.00 pm

PES06 M സമയം : 1 മണിക്കൂർ 

പരമാവധി സ്ക%ാർ : 30

ഉത്തരസൂചിക

1 R

√2

1

2 [ML2T-2] 1

3 ശരി 1

4 മ�ൊമ�ന്റ് ഓഫ് ഇനേ�ർഷ്യ (ജഡത്വൊഘൂർണം) 1

5 നേരഖീയ  ചല�ം  :  ഇത്തരം  ചല�ത്തിൽ  വ്യൂഹത്തിമല എല്ലൊ  കണികകളും  ഒനേര
പ്രനേവഗത്തിൽ സഞ്ചരിക്കുന്നു.
ഭ്ര�ണ ചല�ം  :   വ്യൂഹത്തിമല എല്ലൊ കണികകളും ഒനേര നേകൊണീയ പ്രനേവഗത്തിൽ
സഞ്ചരിക്കുന്നു.

1

1

6 Iring =MR2  ആമണന്ന് �മുക്കറിയൊം. 
ലംബ അക്ഷ സിദ്ധൊന്തപ്രകൊരം   

Ix + Iy = MR2

    ഇവിമS  X, Y  അക്ഷങ്ങൾ  വൃത്തവളയത്തിമന്റ രണ്ട്
വ്യൊസനേരഖകൾ തമന്നയൊണ്. 
അതി�ൊൽ Id + Id  = 2Id = MR2

I d=
MR2

2

2

7 ഒരു  ദൃഢ  വസ്തുവിമല  P  എന്ന  കണിക  z  അക്ഷം
ആധൊര�ൊക്കി  പരിക്ര�ണം  മചയ്യുനേhൊൾ  t
സ�യത്തിലുള്ള നേകൊണീയ സ്ഥൊ�ൊന്തരം  ആയൊൽ,   

നേകൊണീയ പ്രനേവഗം,   ω=
Δθ
Δ t

 
വസ്തു P' ൽ എത്തുനേhൊൾ 
PP’ = r = r ആകുന്നു.

അങ്ങിമ�മയങ്കിൽ    Δ r
Δ t

=r Δθ
Δ t

      
അഥവൊ  v = r ω എമന്നഴുതൊം. 
സദിശ രൂപത്തിമലഴുതുനേhൊൾ, 

v⃗=ω⃗ x r⃗

2
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8 സ�ൊന്തര അക്ഷ സിദ്ധൊന്തം
 ഒരു  അക്ഷത്തിലൂമSയുള്ള  വസ്തുവിമന്റ
ജഡത്വൊഘൂർണം  (Iz’)  എന്നത്,  പിണ്ഡനേകന്ദ്ര ത്തിലൂമS
കSന്നുനേപൊകുന്ന  സ�ൊന്തരഅക്ഷം  ആധൊര�ൊയുള്ള
ജഡത്വൊഘൂർണ  ത്തിമന്റയും(Iz),  വസ്തുവിമന്റ
�ൊസിമന്റയും(M)  രണ്ട്  അക്ഷങ്ങൾ  തമ്മിലുള്ള
അകലത്തിമന്റ  (a)  വർഗത്തിമന്റയും  ഗുണ�ഫലവും
തമ്മിലുള്ള തുകയൊയിരിക്കും.
Iz’ = Iz + Ma2

2

9  ഇവിടെ�  ωi = 0    ωf  = 10 rad/s       t = 2 s     I = 0.4 kg m2  
 τ = I α  ആമണന്ന് �മുക്കറിയൊം.  

τ = I × 
ωf−ωi

t
  = 0.4 × 

10−0
2    = 2 Nm

3

10 (a) നേകൊണീയ നേവഗത കുറയുന്നു. 
(b) നേകൊണീയ ആക്ക സംരക്ഷണ�ിയ�ം
"ബൊഹ്യനേSൊർക്ക് (ബലആഘൂർണം) അനുഭവമ�ടുന്നിമല്ലങ്കിൽ ആ വസ്തുവിമന്റ 
നേകൊണീയആക്കം ഒരു സ്ഥിരസംഖ്യ ആയിരിക്കും”. 

1
2

11 a) നേSൊർക്ക് (ബലആഘൂർണം)
b) മ�ൊമ�ന്റ് ഓഫ് ഇനേ�ർഷ്യ (ജഡത്വൊഘൂർണം)
c) 900

1
1
1

12 a) ഗതിനേകൊർജം K = 1
2

mv2 = 1
2

m(rω)
2                ( v = rω ആയതി�ൊൽ )

   അഥവൊ        K = 1
2

mr2
ω

2
=

1
2

I ω2

b) നേ�ർനേരഖൊ ഗതിനേകൊർജം Kt = 1
2

Mv2

പരിക്ര�ണ ഗതിനേകൊർജം Kr = 1
2

Iω2  

ഇവിമS വളയത്തിമന്റ  മ�ൊമ�ന്റ് ഓഫ് ഇനേ�ർഷ്യ I = MR2  എന്നും  ω = v
R

എന്നും

വിലകൾ മകൊടുത്തൊൽ,   Kr = 1
2

MR2
(

v2

R2 )  = 1
2

Mv2  =  Kt         

1

2

13 a) ML2T-1.
b)  I  =  MR2 ആമണന്ന്  �മുക്കറിയൊം.  ഐസ്  ഉരുകി  ഭൂ�ധ്യനേരഖൊ  പ്രനേദശനേത്തക്ക്

ഒഴുകുനേhൊൾ  R  വർധിക്കുന്നു.  അനേ�ൊൾ  മ�ൊമ�ന്റ്  ഓഫ്  ഇനേ�ർഷ്യ  വർധിക്കുന്നു.

Iω =  ഒരു സ്ഥിരസംഖ്യ ആയതി�ൊൽ മ�ൊമ�ന്റ് ഓഫ് ഇനേ�ർഷ്യ വർധിക്കുനേhൊൾ

നേകൊണീയപ്രനേവഗം കുറയുന്നു. അങ്ങിമ� ദിവസത്തിമന്റ ദൈദർഘ്യം കൂടുന്നു.

1
3
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14 (a)  l  = r x p ആമണന്ന് �മുക്കറിയൊം.  
ഈ സ�വൊക്യമത്ത അവകല�ം (differentiation) മചയ് തൊൽ,

              dl
dt
=

d (r×p)
dt

 

                  =  dr
dt

×p + r×
dp
dt

 = v×mv  + r×F

        = m(v×v ) + τ               (ഇവിമS (v×v ) =0)

 അഥവൊ dl
dt
=τ

     അതൊയത്  നേകൊണീയ  ആക്കവ്യത്യൊസത്തിമന്റ  സ�യ�ിരക്കൊണ്  നേSൊർക്ക്
(ബലആഘൂർണം). 
(b) നേകൊണീയ ആക്ക സംരക്ഷണ�ിയ�ം
  "ബൊഹ്യനേSൊർക്ക്  (ബലആഘൂർണം)  പൂജ്യ�ൊയിരിക്കുനേhൊൾ  ആ  വസ്തുവിമന്റ
നേകൊണീയആക്കം ഒരു സ്ഥിരസംഖ്യ ആയിരിക്കും”. 
(c) ഗ്രഹ ചല�ം

2

1

1

15 a) നേകൊണീയ ആക്കം
b)  "ബൊഹ്യനേSൊർക്ക്  (ബലആഘൂർണം)  അനുഭവമ�ടുന്നിമല്ലങ്കിൽ  ആ  വസ്തുവിമന്റ
നേകൊണീയആക്കം ഒരു സ്ഥിരസംഖ്യ ആയിരിക്കും” 
            Iω =  ഒരു സ്ഥിരസംഖ്യ
  ഗ്രഹങ്ങൾ  സൂര്യമന്റ  സ�ീപത്തൊയിരിക്കുനേhൊൾ  അവയുമS  ആരം  (R)
കുറവൊയിരിക്കും.  അങ്ങമ�   മ�ൊമ�ന്റ്  ഓഫ്  ഇനേ�ർഷ്യ  ( I=MR2)  കുറയുകയും
നേകൊണീയ പ്രനേവഗം(ω) കൂടുകയും മചയ്യും.
     ഗ്രഹങ്ങൾ വിദൂര പ്രനേദശങ്ങളിൽ ആയിരിക്കുനേhൊൾ  മ�ൊമ�ന്റ് ഓഫ് ഇനേ�ർഷ്യ
കൂടുകയും നേകൊണീയപ്രനേവഗം(ω) കുറയുകയും മചയ്യും. അതി�ൊൽ വിദൂര പ്രനേദശങ്ങളിൽ
ഗ്രഹങ്ങൾ �ന്ദഗതിയിലൊയിരിക്കും

1

3

16 a) ലംബ അക്ഷ സിദ്ധൊന്തം 
ഒരു  പരന്ന  പ്രതലമുള്ള  വസ്തുവിമന്റ  ലംബ

അക്ഷത്തി�് ആധൊര�ൊയ ജഡത്വൊഘൂർണം ( Iz ), ആ
പ്രതലത്തിൽ  തമന്ന  പരസ്പരലംബ�ൊയ
അക്ഷങ്ങൾക്ക് ആധൊര�ൊയ ജഡത്വൊഘൂർണങ്ങളുമS (
Ix, Iy ) തുകയ്ക്ക് തുല്യ�ൊയിരിക്കും.    

 Iz = Ix + Iy    
b)  ഇവിമS    എന്നീ  അക്ഷങ്ങൾ  തകിSിമന്റ  രണ്ട്
വ്യൊസനേരഖകൾ  തമന്നയൊയതി�ൊൽ  സ��ിതി
പ്രകൊരം   Ix = Iy   ആയിരിക്കും. 
അതുമകൊണ്ട്    Iz =  2Ix  എന്ന് കിട്ടും. 

എന്നൊൽ I z=
MR2

2

2

2
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അതൊയത്  I x=
I z

2
=

MR2

4
വൃത്തതകിSിമന്റ  ഏമതങ്കിലും  വ്യൊസമത്ത  ആധൊര�ൊക്കിയുള്ള  മ�ൊമ�ന്റ്  ഓഫ്

ഇനേ�ർഷ്യ MR2

4
ആയിരിക്കും.

17 (a)  തന്നിരിക്കുന്ന  അക്ഷമത്ത  ആസ്പദ�ൊക്കിയുള്ള  നേ�ൊമ�ന്റ്റ്  ഓഫ്  ഇനേ�ർഷ്യ,
അതിമന്റ  ഭ്ര�ണ  ചല�ത്തിമല  �ൊറ്റമത്ത  പ്രതിനേരൊധിക്കുന്നു.  അതി�ൊൽ  ഇതിമ�
ഭ്ര�ണജഡത്വത്തിമന്റ അളവൊയി കണക്കൊക്കൊം.
b)  i. വസ്തുവിമന്റ �ൊസ്  ii. അതിമന്റ രൂപവും വലി�വും 

(c) KE=
L2

2 I
ആമണന്ന് �മുക്കറിയൊം.

ഇവിമS L, നേകൊണീയആക്കം ഒരു സ്ഥിരസംഖ്യ ആയിരിക്കും.

അതി�ൊൽ KEα
1
I

      I A > I B  എന്ന് തന്നിരിക്കുന്നതി�ൊൽ  KEB > KEA  ആയിരിക്കും. 

2

1

2

18 (a) നേകൊണീയ ആക്ക സംരക്ഷണ�ിയ�ം

(b)  ഇവിമS കുറഞ്ഞ നേവഗതയിൽ കറങ്ങുന്നത് പുഴുങ്ങൊത്ത മുട്ടയൊയിരിക്കും. ഇതിമന്റ
ഉള്ളിലുള്ള  ദ്രൊവകരൂപത്തിലുള്ള  ദ്രവ്യം  ഭ്ര�ണ  അക്ഷത്തിൽ�ിന്നും  അകമല

ആയിരിക്കൊൻ  ശ്ര�ിക്കുന്നു.  അനേ�ൊൾ  മ�ൊമ�ന്റ്  ഓഫ്  ഇനേ�ർഷ്യ(I)  കൂടുകയും

നേകൊണീയ  നേവഗത  കുറയുകയും  മചയ്യുന്നു.  എന്നൊൽ  പുഴുങ്ങിയ  മുട്ടയുമS  ഉൾഭൊഗം

ദൃഢ�ൊയതി�ൊൽ തുSർച്ചയൊയി കറങ്ങിമക്കൊണ്ടിരിക്കും. 

 (c) ഗതിനേകൊർജം K = 1
2

I ω2 = 1
2

MR2

2
ω

2

                                = MR2

4
ω

2  =  20×0.252

4
×1002

                                = 3.1 × 103 J
      നേകൊണീയആക്കം L =Iω

L=
MR2

2
ω

അതി�ൊൽ L=
20 x 0.252

2
×100=62.5Js
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